SACHTA KRUHOVA VSK 100
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ROQZMEROVA TABULKA
Js t (cm) afcm) . ¢} c d{(cm)
(mm){rza-1]1Za-11] TBH [T8P-1]KAM. |1ZA-1 [TZ8-11] TBH [1BP-1|KAM. |(Cm)|(cm) |rza-1TZA-n] T8H [TEp-1] kam
150 | - - 251 35]19] = - 40,0 1390 |40,6 |05 | +5] - - 175 |18,5]|159
x0 | - - 324020 - - |36.8 |36,0 |380 |30 | 70| - - |2 |20 | 2290
250 | - - | 36|45 ]22] - - 13239 |30 35,3 | 155]9,5]| - - |86 205 | 272
300 | 45 |50 |40 50 25 1305|300 31,0 [30,0 |32.5 | 80 |12,0 | 34,5 | 360 | 340 | 36,0 | 2.5
400|155 | 60 {50 | 60130 265120250 |240 1270 | 230 |17, C | 455 | 46,0 | 45,0 | 460 | 43,0
sc0| 60 |70 |58 | 65| 35 190180182 |15 |21.4 | 2801220350570 3538 |%5|535
500 | 65 | 75 | 6.8 | 75 | 40 |13,5]125 |13.2 | 125 16,0 | 330 |70 | 66,5 | 675 | =.8 | 675 | 640
VYSVETLIVKY
"A | VSTUPNI CAST ' 4 | SACHTOVA SKRUZ TZS 7-1C0
5 | komin ' 5 | PRECHODOWA SKRLUZ TZS §-3C./160
C | sroDNI CAST 6 | VIDLICOVE STuSACLO

FODKLADNI  GETON

PROSTY SETON HVA - 45

VYRCVMAACI BETON
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